107

Ratio

0.5

10—1 ...;.....E.....E.....:...:
1072k

[ pull of goverp parameter

1074

1072

107

107

15

Ratio

1

......

oy
h:.’

.................

=10 -8 -6

[ pull of @parameter

107}

1072

1073

Ratio

2 4 6 8 10

0.5

=10 -8 -6

)

.
0 2

4 6 8 10

OLDSAMPLE-relf

s deg 1

terles _0.% C

ShoEnt o i -

Ea—— 107

& Dev . F

onstant 8 E

G - C

”e:V 0.051 I

-2

an 0%? i 10 3

| F

J 0 og %E L

i | i
-3

HE 10°F

TIes 0] E

ev 0 % F

Qasiant 09 -

Ratio

0.6

S I S S .

fe ”e:v -0.01
onstant 0.
0.
00

-4 -2 0 2 4 6 8

[ pull of dxy parameter

107}

1072

Ratio

10

[ pull of dz parameter

10-8 =6 =4 =2 0 2 4 6 8 10

res

Ratio

[y

1d De:
Shsiant
fil Yoiieren

res
1d Dey
onstant

—~0.00093%0

SER

o :

iy i
iy ;
el e Lk =i,,,‘

: L s‘ S

vad ; .i ‘3 :: o wr n;.: ;
""""""" A TR S PR AR Rk L
IR :
I0-8 6 -4 -2 0 2 4 6 8 10



	Contents
	Page 1


